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oL 53¢l
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R WEnAL GuplaL s,

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Al 2 UL AR (el ©.

Note : This question paper contain four sections.

[4ewo1L - I/SECTION - 1

(w1 : 15)/ (Marks : 15)

Al ; (1) e 15 N2l syl 2L 15x1=15
(i) AL AR [Esedlnizl] Rl oot 2 52 247 [Aseu 18 L 23U svelod duil,

Note : (i) Answer all the 15 questions.

(i) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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1. oA f(x)=x2+5,dl f(—4)=

(a) 26 (b) 21 (c) 20 (d —20
If f(x)=x2+5, then f(—4)=
(a) 26 (b) 21 () 20 (d —20

Y N

2. stk+2 4k—6,3k—2 34 AP, Al A0l $Bd uel ©, dl k -l Bud :

(@) 2 (b) 3 () 4 d) 5
If k+2, 4k — 6, 3k — 2 are the three consecutive terms of an A.P., then the value of k is :
(@) 2 (b) 3 (0 4 (d) 5

3. G.P. Al du¥ AR [ el IRUSR 256 © il UMY 2JRUTR 4 24 YUY UE Urticus iU ol
adl 3ed g L :

1 1
(@) 8 ®) 1 © 33 @ 16

If the product of the first four consecutive terms of a G.P. is 256 and if the common
ratio is 4 and the first term is positive, then its 3" d term is :

1 1

@ 8 ® 16 © 35 (d) 16

4.  22-2x+7 -l x+4 8l MPUSR S, AN W ¢

(@) 28 b 29 () 30 (d) 31
The remainder when x?>=2x+7 is divided by x+4 is :
(a) 28 (b) 29 () 30 (d) 31

5. x2-bx+c=02x2+bxr—a=0 < A3 ol wls2eL

c+a c—a c+b a+b
@ b ®) © @

The common root of the equations x> —bx+c=0 and x>2+bx—a=0 is :

c+a c—a c+b a+b
@ T ®) T © @ 5
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10 6 2 -8 -2 8 2
@) [0 1} ®) [3 —1] © ( 1 —7) ) (—1 7]

-~

25 WA L & (g2l (=2, 6) 24 (4, 8) A sdscll M v WR A & drll Bl A €2

(@ 3 (b) 3 (© -3 d -3

Slope of the straight line which is perpendicular to the straight line joining the points
(=2, 6) and (4, 8) is equal to :

1 1

(a) (b) 3 (© -3 d -3

st (G52l (2, 5), (4, 6) i (a, a) AR © dl ‘@’ o Yt €2l
@ -8 (b) 4 (© —4 (d) 8
If the points (2, 5), (4, 6) and (a, a) are collinear, then the value of ‘a’ is equal to :

@ -8 b) 4 € -4 d) 8

o yHBASEAL UREA 21453 24 A3 244 18 A ©. od an Bislawel 215 el 8 Al 8, dl 2
BstoAl i34 ousy ¢l
(@) 4 ¥l (b) 3l © 9l d) 62l

The perimeters of two similar triangles are 24 cm and 18 cm respectively. If one side of
the first triangle is 8 cm, then the corresponding side of the other triangle is :

(@) 4cm (b) 3 cm (¢) 9cm (d 6cm
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10.

11.

12.

AABC 245 deisiel Bsiel © st #B=90° 244 BDLAC 8. sl BD=8 23, AD=4 23l dl CD
é%\tz

(a) 24 Al (b) 16 Al ) 32l d) 8=l

AABC is a right angled triangle where ZB=90° and BDLAC. If BD=8 cm, AD=4 cm,
then CD is :

(@ 24 cm (b) 16 cm () 32cm (d) 8cm

Ao RIui LABC=

100 m B

(a) 45° (b) 30° (c) 60° (d) 50°
In the adjoining figure ZABC=

100 m B

(@) 45° (b)  30° ©)  60° (d) 50°

9 tan20— 9 sec20 =

(@) 1 (b) O © 9 (d -9
9 tan20 —9 sec?0 =

@ 1 (b) 0 (© 9 d -9
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N\ NN

SIS olou yEld g 100 m AR S cdl -l Bsrdi, AL €2
(a) 25 =l (b) 100 Al () 5l (d) 10 Al
If the surface area of a sphere is 100 m cm?, then its radius is equal to :

(@) 25cm (b) 100 cm () 5cm (d) 10 cm

Rl 2usd WuUB1a [Gadq 242 8. od Ucds Yeu 3 2l el Al ledl wauldia [Guan
€2l

(@ V12 b) 42 (© 6v2 (d) 92

Standard deviation of a collection of a data is 2+/2 . If each value is multiplied by 3,
then the standard deviation of the new data is:

(@ 2 b) 42 © 62 @ o2

52 vl ssaigl 25 i ielbys <2 Vil 2 B, Al dl 2l A A AAl HeueUdl
sedl 7

2 11 4 8
@ 13 ® 13 © 13 d 73

A card is drawn from a pack of 52 cards at random. The probability of getting neither
an ace nor a king card is :

2 11 4 8
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([Qeu2t - I1/SECTION - II
(38l : 20/Marks : 20)

Ay (i) 10 UBlAL syellol ALl 10x2=20
(i) M2 v 30 2R ©. Ny 14 Uzl s1duSL 9 nzll 2 3L

Note : (i) Answer 10 questions.
(i) Question number 30 is compulsory. Select any 9 questions from the first

14 questions.

16. A={1,2,3,4,5,B={3,4,56} 21 C={56,7, 8 24 8. AUBUC)=(AUB)UC
gaulell.

Given, A={1, 2, 3, 4, 5}, B={3, 4, 5, 6} and C={5, 6, 7, 8}, show that
Au(BuC)=(AuB)uC.

17. [ sizs (84 A={5,6,8,10} &l B={19, 15,9, 11} 3[icl 2 & sl f(x)=2x—1. a 24~ b ~ll
Bt Qe

x 5 6 8 10
fx)| a 11 b 19

The following table represents a function from A={5, 6, 8, 10} to B={19, 15, 9, 11}
where f(x)=2x—1. Find the values of a and b.

x 5 6 8 | 10
fx)| a | 11 | b | 19

18. ot — % m, — %(m +2) GP. Ul ¢, dl m Al (5ud 2Wel.

If — ;, m, — %(m + 2) are in G.P., find the values of m.

19. [(adiud <lasll G5l : 13x+11y="70, 11x + 13y =74.
Solve by elimination method : 13x +11y="70, 11x + 13y =74.
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6x% + 9x

WA L~
3x° —12x

) ) 6x2 + 9x
Simplify : 3l 12r

2x2 4 @is Als A=[ag] - FAlRL 52U, ol wiodet a=2i—j ol 2uld ©.

Construct a 2 X2 matrix A= [aij] whose elements are given by aj; =2i—j.

3 2 ~N 8 -1 N NN N
A=(5 1) 2&-113=[4 3} 9. A5 C A 4, sl C=2A+B.

3 2 8 -1
Let A=(5 J and B=[4 3). Find the matrix C, if C=2A +B.

N N

2463+l 2Rl 1: 6 Hi, (—3,5) 2 (4, —9) L sAscll utvisA, eutdl 51§ [CigL w208l

Find the coordinates of the point which divides the line segment joining (—3, 5) and
(4, —9) in the ratio 1 : 6 internally.

“oEl a W2 [Gg2H(0, a), a > 0 x-2i8 W 8”7, 2L [Aendl M2 ctsrell el

“The points (0, a), a > 0 lie on x-axis for all a”. Justify the truthness of the statement.

APQR Hi, AB||QR. st AB 3 A4l ¢4, PB 2 A3l 247 PR 6 €14, cll QR | dend 2lel.
In APQR, AB||QR. If ABis 3 cm, PBis 2 cm and PR is 6 cm, then find the length of QR.

[ Turn over
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26. 518 2HAdIsSRAL sdoll WAL 2TeReAl 212t Bt 5181 30° ©. 2adisesR, 2Tl 304/3 3l -
2R . 2AdisisRAl 2Aivt ¥R 1.5 3 ovald 2eRell G O, dl elardl Glud 2l

The angle of elevation of the top of a tower as seen by an observer is 30°. The observer

is at a distance of 30+/3 m from the tower. If the eye level of the observer is 1.5 m above
the ground level, then find the height of the tower.

27. & dotgel Ridles ga Yl glasn 1540 A4 8. ot Al Bt szell Glaud 2k wgll @i
dl, Ridlesa-l Glaug 2l

The total surface area of a solid right circular cylinder is 1540 cm?2. If the height is four
times the radius of the base, then find the height of the cylinder.

28. Ul A Yt Yt 12 O 24 (R 59 ©. W&l AU 2ABscH Yeur 2l

The smallest value of a collection of data is 12 and the range is 59. Find the largest
value of the collection of data.

NN

29. slf Rissia A R Goledl, (R Aaseiel dioucudl el:
() A on (i) s 2is siel
In tossing a fair coin twice, find the probability of getting :

(i) Two heads (i) ~ Exactly one tail

30. (@) 8¢ sl s 7201 ] cuem dadl, el Bora 4l [w -2 cﬂj

YL

(b) sAx=asecd+Db tand ¥ y=a tand +b sech, dl x2—y2=a2—b2 UG &L
. . 1 ol . 22
(a)  If the volume of a solid sphere is 7241; cu. cm, then find its radius. (Take = 7)

OR

(b) If x=a secd+b tand and y=a tan® +b sech, then prove that x>—y?=a—b>
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(@euat - I1I/SECTION - III
(3l8L : 45/Marks : 45)

i) 9 AL sveled 2L 9x5=45

i) ML vl 45 A ©. 14 Nl SITUSL 8 UBllAL syl ALl

(
(

Note : (i) Answer 9 questions.
(

ii) Question number 45 is compulsory. Select any 8 questions from the
14 questions.

A={a,b,c,d, e f g x vy 2z,B={1,2cde2C={defg?2yh
A\(BUC)=(A\B) N (A\C) - Askil.

Let A={a,b,c,d, e f, g x,v,2}, B={1,2,c,d efand C={d, e, £, g 2, y}.
Verify A\(BuC)=(A\B)n(A\C).

A=16,9,15,18,21}; B={1,2,4,5,6} 2 f: A > B, f(x)= ~ X 3 ol cupaufia 8.

A yRd s
() dr Rend
()  sBid eAdl dLomi
(iif)  slpsHi

(iv) 2ndviHi

x—3
T

Let A={6,9,15,18,21); B=(1,2,4,5 6} and f: A — B be defined by f(x) =

Represent f by :

(i) an arrow diagram
(i) a set of ordered pairs
(iii) a table

(iv) a graph

Q0 1222432424 Al M™Y. 2n UEIAL UL 4L

Find the sum of the first 2n terms of the series 12—22+32—-42+ ..
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Q0 7+ 774777 + ... Al MUY n YEIAL UL WAL

Find the sum of first n terms of the series 7+ 77 +777 +....

R2R wellal elie-dl 2354 15 Ball/sels ©. d uewe (G368 30 (Bl o8 247 Nl Eaumi 4o 2euq
W 4 565 24 30 [dladdi wd 2ue 8. deliedl 264 AL

The speed of a boat in still water is 15 km/hr. It goes 30 km upstream and return
downstream to the original point in 4 hrs. 30 minutes. Find the speed of the stream.

o 166 — 2403 + (a— 1)a2+ (b +1)x +49 215 URYSL 2Ry €4 dl a 24l b Y&t WA,

Find the values of a and b if 16x*—24x3+ (a—1)x?+ (b+1)x +49 is a perfect square.

~N 5 2 N 2 _1 N ~
s A= 21 B= L (AB)T=BTAT 25124l
7 3 -1 1

5 2 2 -1
If A= [7 3] and B = [ . J verify that (AB)T=BTAT,

~

(G52l (—4, —2), (=3, =5), (3, —2) 2 (2, 3) 4l Gtricl AGesiel gsn 2L,

Find the area of the quadrilateral formed by the points (-4, —2), (=3, =5), (3, —2)
and (2, 3).

Yl Rigid souelld Huod s3L.

State and prove Pythagoras theorem.

[Gedlowdl 22 w2 215 s@oL Wire ©. svadlainl 516 [Gigall, seol wireddl 2l 2 dldid Gtudt slel
2453 60° 247 45° 8. o $AdL Uikel Glud 10 3l € dl, Phedlidl Glud 208l (3 = 1.732)
A flag post stands on the top of a building. From a point on the ground, the angles of
elevation of the top and bottom of the flag post are 60° and 45° respectively. If the
height of the flag post is 10 m, find the height of the building. (/3 =1.732)
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2gril Avisrl veu-l UREA 44 3l 2 8.4 w WL B, ot dddl Gletd 14 A © L A s
28l

The perimeter of the ends of a frustum of a cone are 44 cm and 8.4 m cm. If the depth
is 14 cm, then find its volume.

s alcells dotunddl dend, ugloud @A Glug 2isd 44 W3, 21 Al 24 12 Wl ©. adA
2AW0ll, daiell &l iy cdieetdl 209 O, od gl GlRuS 24 Al €l dl, Al a2l

The length, breadth and height of a solid metallic cuboid are 44 cm, 21 cm and 12 cm
respectively. It is melted and a solid cone is made out of it. If the height of the cone is
24 cm, then find the diameter of its base.

(ot el Qe apelis 2l
18, 20, 15, 12, 25
Find the coefficient of variation of the following data.

18, 20, 15, 12, 25

SIS Wt oL R S5cll, MM URHL A5l vl e 8 Al Areul Aneeldl AeicudiA WAL

If a die is rolled twice, find the probability of getting an even number in the first time or
a total of 8.

N

(a)  2UA 3x%+6x% =122 24x i 4wt + 1423 + 822 — 8x “AgUel@ll GCD 2.

2y
(b) 516 U VAL U 248l A 24 B W 8% O. od AB Al wed[elg (3, 2) €ld dl, AB o uadls2el

-~

&L

(a) ~ Find the GCD of the following polynomials 3x%+6x3—12x2—24x and
4x*+14x5 + 8x% — 8x.

OR

(b) A straight line cuts the coordinate axes at A and B. If the mid point of ABis (3, 2),
then find the equation of AB.

[ Turn over
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Al

Note :

46. (a)

47. (a)

(@euat - IV/SECTION - IV
(28t : 20/Marks : 20)

SIEUGL [Aseur 2 530 oA UBllAL syt 2l

12

Answer both the questions choosing either of the alternative.

IV. CAREERINDIA

2x10=20

518 (Gl A 2uals €kl o 6 W Bl GR1edl adoadi Sgell 10 Al §2 8. 21 2uisl-l

denda Wl

YL

sl Adesleld ABCD o [ulel s21 ol AB=6 W3l LABC=70°, BC=5 A+l 2

ZACD=30° 2Ud ©.

Draw the two tangents from a point which is 10 cm away from the centre of a
circle of radius 6 cm. Also, measure the lengths of the tangents.

OR

Construct a cyclic quadrilateral ABCD, given AB=6 cm, ZABC=70°, BC=5 cm

and £ZACD=30°.

224+ x—6=0 4 2wy 3ld Gsdl

Y4l

N N

xy=20, x, y > 0 Al 20du €RL Ul Gualal 53|y WAL sR x=5

SRR =10 &,
Solve graphically 2x¥2+x—6=0.

OR

~

S 211 x 2l

Draw the graph of xy=20, x, y > 0. Use the graph to find y when x=5, and to

find x when y=10.

-00o0-



